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1) The title meve-i derya means “sca waves',
2) "ALUKI29/57. 1=

HY1: Rd. 2 1e,5d,3: 1c,6: 1,547 V¢, 8 56, 7-BA. -9-12.

M1 24.51¢0,9: 84, 10:1¢, 5d,18: 1 ¢. 1-12 arc 0 be repeated, prima vofta: 12 3-4 B4, 5-6c,
TRd 13 34 A G, 7-R A 15 8 G. 1316 arc not repealted.

H2al: 2¢e3 2/ 5 Ra,6 S6ag. 1-16 arc writien as 8 eycles to be repeated, prima volta as 8
except: 42,58 % seconda volta as 16.



e
5
i ]
7L
7T
™
e
["T‘
T
e
™
e
]
ppam
‘[""h
ﬁ

ik

B
E
e
i
™
e
2]
e
e
1%
™
1)
e
™
i)
]

10 - -
persttlefitpetbece e oree

§r- =ttt =t =iy

1) Corresponding 1o the double bar within FH2 b is a gap, big enough for the inscriion of ve leh, but
blink, Whether one or both parts of H2 b should be repeated is not clear.

- X 5-6d ¢, -5-12. 13: 8. 14 and 13-16 form a unit

10 be repemted, prima volta as H2 a 16, seconda volta as 2 b 16 cxcept: 56, T-8 e,
HY: 2 Sto6: 4, 6 5648 ¢, 7: 204, 10; 5-6d ¢, 12: 1-2a¢,13: B a, 16 prima volia:

J ] ‘ _w :.::.: seconda volta: 5-6,7-8e.




